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a2 1] WOUTR | 2R AR LK | On | Ca | cu |MEPH|PEIRRE i | pummmm
1 BRI H R L 2 e 7 75.8 B kR —
A7 2B (10%< V7 25 — Ak & B <<50%) (PP <0.33 <0.33 bR 7 H
2 IS 2l RSl T 2 55 7 76.9 B kR —
AR S| T 2 Sy 77.5 PN -
3 2HMIMES| £/ SEMLMGESI T 2 55 7 78.2 B R —
THYLARE T T 2 Sy 76.7 PN -
4 i 24 1] ALz T 1 Mg 7 74 bR — i
HoAtAy 2R <0. 33 <0. 33 iR — %
2 #3525 22 ) L 1 g5 73.9 iR —
A7 2B (10%< V7 25 — Ak & B <<50%) (PP 1 0.8 Feeh s iy
Fej T 1 e 7 74. 1 AR —
oAtk 4.5 3.53 PN b %
[l ¢ T 2 Mg 7 79.3 bR — i
oAtk 4,57 3.57 PN %
6 24524 % ] L 1 Mg 7 73.8 iR —
A7 2B (10%< V7 25 — Ak & B <<50%) (PP 1. 64 1.27 Feeh i R
Fej T 1 e 7 74.3 AR —
oAtk 3. 64 2.87 PN %
[l ¢ T 2 Mg 7 79. 2 bR — i
oAtk 3.45 2.73 PN %
7 145 i ZE (A] 1#E5HE T 3 g 7 72.7 iR —
SHEEHE T 3 M s 74.5 AR %
8 2845 ¥ 42 5] THEASHE T 3 g 7 76.5 iR —
9 RESZ (R L1458 T 3 Mg s 73 AR %
10 A#SE 7 [A] 1584548 T 3 Ml 7 76.9 N — %
11 SH4E 25 ] 19#EEHE T 3 R 7 73.7 PN -
12 (it | 23HZEHE T 3 I 7 75 AR — R
25HEE# T 3 Mg s 76. 1 AR %
13 THEEHE S (] 28HZEHE T 3 I 7 74.7 AR — R
3084 HE T 3 R 7 75. 4 PN -
14 84 i 72 1] SOHEEH T 3 I 74 bR —
35HEE T 3 Mg s 75.9 AR %
15 OHZE M) 38HAEHE T 3 I 7 74.3 AR — R
A1HEEHET 3 M s 74.6 AR %
16 10845 i 4= ] 4ABZEHE T 4 I 7 76. 2 AR — R
ATHEEHE T 4 M s 73.6 AR %
17 JETZE ] S T 2 Mg 7 74.1 bR — i
18 J X HREE TR T 7 R 7 75. 2 PN -
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